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KS: HO: r is normal vs Hl: r is not normal
Shapiro-Wilk: p-value = 0.0013 < alpha=0.05 > RHO
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HO: mu_n=60 vs H1: mu_n<60 -> one-sample T-test: p-value= 0.0322 < alpha=0.05 >RHO
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HO: mu_r=50 vs H1: mu_r !=50: -> one-sample T-test: p-value < 0.001 < alpha=0.10 -> RHO
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HO: y1 is normal vs H1: ~HO : Shapiro.test: p-value= 0.7153 !< alpha= 0.05 2> AHO
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HO: y2 is normal vs H1: ~HO : KS.test: p-value= 0.009 < alpha= 0.05 > RHO
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HO: mu_y1 = mu_y2 vs H1: mu_yl < mu_y2: paired Samples T-Test: p-value = 0.0178 < alpha=0.05
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HO: mu_m =mu_fvs H1: mu_m < mu_f: Independent samples T-test: p-value: 0.0167 < alpha= 0.05
- RHO
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Ho: var m = var f vs Hl: ~HO: bartelett var.test: p-value = 0.0841 !< alpha= 0.05 =
AHO
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HO: mu l=mu 2=mu_ 3 vs Hl: ~HO; One-way ANOVA: p-value= 0.0167 < alpha=0.05 >RHO
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